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Attempt any five questions.

Make suitable assumptions wherever necessary.
Figures to the right indicate full marks.

Each question carry equal marks (14 marks)

Explain Chemical Compounds of Portland Cement.
Explain Laboratory Test - ‘Soundness test of Cement’.

Select type of Cement for Following Work:
1. Marine Work. 5. Pre fabricated construction
2. Gravity Dam 6. Chemical Factory Work
3. Plastering in Auditorium 7. Oil well construction
4. Under water work
Explain Classification of Aggregate by based on shape.
OR
Explain in detail ‘Elongations Index Test’

Define workability of concrete and describe importance of workability for
concrete work. Also define Bleeding and Segregation in fresh concrete.
Explain Methods of mixing of Concrete..

OR
Explain how ‘Compaction Factor Test’ is carried out in laboratory sketching
the apparatus used.
Write short note on ‘Gel-Space Ratio’.

Define (1) Mean Strength (2) Standard Deviation
The following are the average compression strength test results, in N/mm? of
ten samples of concrete. Tabulate the results and calculate standard deviation.
21, 19.6,21.4,21,19.7, 20.7, 20.9, 18.7, 18.5, 18.4

OR
Explain Split Cylinder Test for Tensile Strength Of Concrete.
Why Quality Control is necessary for concrete? Give advantages of Quality
Control.

Explain in brief the use of Rebound Hammer for Hard Concrete.
Design a concrete mix from following data by IS method:
(1)Target mean Strength = 35 N/mm? (2) Water content =190 kg per m® of
concrete (3) % of fine aggregate in total volume of arregates= 23% (4) Water
cement Ratio= 0.43 (5). Specific Gravity of Cement= 3.15 (6) Specific
Gravity of fine aggregates = 2.60 (7)Specific Gravity of coarse aggregates =
2.70 (8) Entrapped air= 2% (9) Max size of aggregates= 20 mm

OR
Explain High Density Concrete
Differentiate Special concrete and Ordinary concrete.
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